
Toutes les Opérations (F)Calculez chaque somme, différence, produit, ou quotient.6 - 4 = 2 ÷ 2 = 49 ÷ 7 = 6 × 2 =18 ÷ 6 = 7 - 3 = 2 × 2 = 7 + 5 =1 + 6 = 8 - 5 = 4 × 3 = 3 + 1 =6 × 6 = 4 ÷ 1 = 8 ÷ 4 = 3 + 5 =9 - 5 = 42 ÷ 6 = 9 - 6 = 8 ÷ 4 =3 × 1 = 1 + 1 = 3 + 3 = 21 ÷ 7 =3 - 2 = 7 ÷ 1 = 5 + 2 = 5 × 2 =4 × 6 = 6 + 4 = 5 + 2 = 9 - 6 =8 - 1 = 5 + 5 = 6 - 1 = 3 + 2 =3 + 5 = 20 ÷ 4 = 8 - 1 = 1 × 4 =28 ÷ 7 = 4 + 3 = 20 ÷ 5 = 12 - 5 =6 + 1 = 8 - 2 = 35 ÷ 5 = 2 × 5 =14 ÷ 2 = 7 + 7 = 4 × 3 = 3 + 2 =8 ÷ 4 = 4 + 5 = 5 + 5 = 7 × 6 =7 + 3 = 11 - 6 = 35 ÷ 5 = 3 × 1 =11 - 6 = 1 × 6 = 7 - 6 = 1 ÷ 1 =8 - 5 = 9 - 5 = 49 ÷ 7 = 5 ÷ 1 =5 × 5 = 4 × 1 = 7 + 5 = 5 + 6 =7 + 7 = 1 × 5 = 3 + 1 = 6 ÷ 1 =10 - 7 = 14 ÷ 2 = 13 - 7 = 1 × 4 =1 × 5 = 7 + 5 = 7 × 6 = 10 - 5 =6 + 4 = 6 × 2 = 1 + 1 = 3 × 7 =7 ÷ 1 = 6 × 7 = 7 + 4 = 4 - 3 =42 ÷ 6 = 2 + 2 = 28 ÷ 7 = 28 ÷ 4 =9 - 3 = 7 ÷ 7 = 11 - 6 = 8 - 4 =Mathslibres.com



Toutes les Opérations (F) RéponsesCalculez chaque somme, différence, produit, ou quotient.6 - 4 = 2 2 ÷ 2 = 1 49 ÷ 7 = 7 6 × 2 = 1218 ÷ 6 = 3 7 - 3 = 4 2 × 2 = 4 7 + 5 = 121 + 6 = 7 8 - 5 = 3 4 × 3 = 12 3 + 1 = 46 × 6 = 36 4 ÷ 1 = 4 8 ÷ 4 = 2 3 + 5 = 89 - 5 = 4 42 ÷ 6 = 7 9 - 6 = 3 8 ÷ 4 = 23 × 1 = 3 1 + 1 = 2 3 + 3 = 6 21 ÷ 7 = 33 - 2 = 1 7 ÷ 1 = 7 5 + 2 = 7 5 × 2 = 104 × 6 = 24 6 + 4 = 10 5 + 2 = 7 9 - 6 = 38 - 1 = 7 5 + 5 = 10 6 - 1 = 5 3 + 2 = 53 + 5 = 8 20 ÷ 4 = 5 8 - 1 = 7 1 × 4 = 428 ÷ 7 = 4 4 + 3 = 7 20 ÷ 5 = 4 12 - 5 = 76 + 1 = 7 8 - 2 = 6 35 ÷ 5 = 7 2 × 5 = 1014 ÷ 2 = 7 7 + 7 = 14 4 × 3 = 12 3 + 2 = 58 ÷ 4 = 2 4 + 5 = 9 5 + 5 = 10 7 × 6 = 427 + 3 = 10 11 - 6 = 5 35 ÷ 5 = 7 3 × 1 = 311 - 6 = 5 1 × 6 = 6 7 - 6 = 1 1 ÷ 1 = 18 - 5 = 3 9 - 5 = 4 49 ÷ 7 = 7 5 ÷ 1 = 55 × 5 = 25 4 × 1 = 4 7 + 5 = 12 5 + 6 = 117 + 7 = 14 1 × 5 = 5 3 + 1 = 4 6 ÷ 1 = 610 - 7 = 3 14 ÷ 2 = 7 13 - 7 = 6 1 × 4 = 41 × 5 = 5 7 + 5 = 12 7 × 6 = 42 10 - 5 = 56 + 4 = 10 6 × 2 = 12 1 + 1 = 2 3 × 7 = 217 ÷ 1 = 7 6 × 7 = 42 7 + 4 = 11 4 - 3 = 142 ÷ 6 = 7 2 + 2 = 4 28 ÷ 7 = 4 28 ÷ 4 = 79 - 3 = 6 7 ÷ 7 = 1 11 - 6 = 5 8 - 4 = 4Mathslibres.com


